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AGCT01%3.BAS
188 This is the 15T program, of 'ABCTBBtB BAS® for T2, 3)********************
200-CLS:CLEAR:PRINT-"start-=-2;TIHES

218 R=2:N=3:Di=T+(N-1) 1X=1+412 Di*( X{X)
228 K=2: 02—1+(N -1)iY=141:0IH YOY) :D=D1%D2
383 OPEN "GRA23423,D73" AS #1 LEN=18
318 FIELD #1,4 AS C3,2 AS X1$,2 AS X2$,2 AS 13,2 AS 25,2 AS 63,4 AS 5%
T IE TE T ErT T1e POUrPUre pRURIOM RVTETI FPMPEEM SO ORI B PP P T

418 7=0:605UB 1818:X(1)=-1:X(2)=1:C1=1:2=24
428 U=3:G0SUB 448

~—443-60SUB-589
- 498 CLOSE:PRINT TiMES$:END
588 X2 x3f*§**§***if***f*******fi*i*!*********i******i****{*i***if*i**)iﬁ**x***

DIU_PUKAUI £ IUNKISIT
528 GOSUB 1818:X(2)=K1:C1=1:2=2+1
323 W=0:60SUB_488

3978 NEXT. J1:RETURN
488 /yty Dt ee e R R R R R R AR A R AR AR

613-60SUB-1820:Y{1)=-11Y{2)=1:02=1 tk=ld+1:C=C1#C2:6=015=8
628 GOSUB 2898 :NUM/=D2%(2-1)+:PUT #1 NG/
638 PRINT C,X{1)3X(2),Y(1):¥(2) 6,8

049 bUbUBﬁ733
638 RETURN

L JBB 7y2, y3RERERRstRaNEE AR AN AR R LA AR N RN AR RO N
718 FOR JJ1~2 T0 N:KKi=dJ1 :
728 GOSUB 1828:Y(2)=KK1:C2=1 =41 :0=C1%02:6=3:8=0

738-G0SUB-2080 NUM/=D2(21) 1 PUT- 1 NUE:
748 PRINT C,X(1)14(2),Y(1);¥42),6,8
568 NEXT 901 RETURN

1898 IR tTal1Z1Ng SUDT OOt mr R e T O O T T R T A
1818 FOR I=1-T0 X:X{1)=B:NEXT 1:RETURN
—1@23_FOR_1_L_IO_LI(D =8 :NEXT_T:RETURN

1998 ‘Denumeration (LSE[)*******H*i****%*ﬂ*}****xH****x********ﬂ***f********
2888 LSET C3=MKS3(C):L5ET X13=HKI3(X(1)):LSET XZ3=HKI$(X(2))

3888-LSET-Y1$=MKIS (YD R LSET-Y23=MKIS (Y {2)
4868 LSET 63=MKI3(6): LSET 83 "11(5*(3) RETURN

ALLTOZA3.BAS
188 ‘This is the 2nd programn_of 'AGETOZ«:? BAS® for T(2,3)#:XxxXRAXXXRXXXXAAY
o 118-CLS:CLEARSPRINT *start = ":TIMES

128 R=2:N=3:D1=14(N-1) eX=1+11DIM X{X)
138 ¥=2:  DZ=1+(N-1):Y=1+1:DIM Y(Y) D=DI*DZ-

—i48- PRIN‘F—'L‘-‘X&—XE'T’YI -Y2'75-6"" -
138 PRINT * b
218 OPEN "6RA23%23.D73" AS #1 LEN=18

220 FIELD §T,4 A5 T8,2 AS X1372 RS X257 AS V13,2 AS Y242 AT 63,4 ASSH
233 FOR =1 10 Di:FOR W=1 TO D2:NGEEDIez-1) 4’ :
249 GET #1 NUM/:605UB 1818

258 7 R RRR RN EARRAAE AR AR AN RAA IR AR LAY >
248 IF Xi=-1 AND Yi=-1 THEN 5=N-1:6=1

278-605UB-Z818 1 PUTH15NUT, -
288 ’iﬂﬁ*iii***ﬁ***ii*iﬁ*******ﬁ

783 PRINT C,X1:X2,Y¥1:Y2,6,5

SN W S LSRR
1688 ._enu-qepahcm (WI/WS)ﬁﬁﬁﬂ****4*meamu******iﬁ***i*ﬂ***ﬁﬁ***ﬂﬂ

e 1818 _C=CVS{L3

1828 Xi=CVI (X]%)
1838 X2=CVI{X2%)

1848 -Y1=CVI{Y13)
1858 Y2=CVI(Y2%)
1848 G=CVI{G3)

__1878'S—WS\S$TRETURN
2888 ‘Denumeration (LSE]')*ﬁ*%*i***ﬁi*ﬁ*ii**%**%ﬂ*i*******}*i**i*****ﬂ***iﬁ

— 7818 LSET C3=MKS340)
2828 LSET X13=MKI3{X1)
2838 LOET X24=HKI${X2)

——2840-LSET-Y13=MKI3 YD
2838 LSET Y24=MKI$(Y2)
2840 LSET G3=MKI3(B)

2870 LSET 535K 3 (S TRETURN

APCTO3L£3.BAS

_950 L¥sxxsERsEEREHER R RN R RRR AR Rnr— <A1O)
248 IF X1<¢>-1 OR Y2=8 THEN GOTO 9808
278 1F G6=8 THEN G=-1:T=T+!
T2887TFTG=1"THEN"SUM=SIM=5%SAR(T)

298 GOSUB 2818:PUT 1 NGB~
-388 '****i**************i*******ﬂ*i*




AOCTO 44 3.BAS

SR E R R R R R IR AR (R TY T
240 1F X2=8 OR Y1<)-1 THEN GOTO 788
_278_1F_G=8_THEN G=-11T=TH
288 IF G=1 THEN SUr=SUM-5#58R(C)

258 GOSUB 2818:PUT &1 NI/
PR LEENEXERRRERERRRRERARXERERERERRR

AOCTO 58 3.BAS

216 OPEN *GRA23423.DT3* AS &1 LEM=18
28 FIELD 81,4 A5 c:,z AS X1$,2 AS X2%,2 AS Y13,
FOR 470 10N
6PRINT Baastt g ) = *TINES
7906101 T=0 IR 2=1-T0- oi tFOR W=1-T0 D2iNWBE=D2%(2-1) 4
248 GET &1 NU¥/.:G0SUB 1818
245 HL=X2-Y2:606U8 4818 :UL=ML
‘243“'}*****i%!§*§§§i§*¥§§§§¥§§¥iiiii*(a,H)
268 1F-X2=8 OR Y2=4 THEN GOTO 938
265 IF UU<A THEN GOTO 988
2767 1F G=0 THEN G=-1:7=T4]
288 1F G=1 THEN SUM=SLM-GHSOR(C)
258, GOSUS 2618 :PUT 41Nt N _
B if**i‘f’é‘i*****t***‘?’é**ii**’({*{**

990 NEXTW:INEXT Z; QusvB Yyoov: NEXTA: CLUSELEND
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SCAT23PR. BAS

_188 ‘This is the programm _for printing the_scattering matrix_of T42, D meusssxsy

118 CLEAR
128 R=2:N=3:D1=14(N-1):X=1+1:DIH X{X)
~130 -K=2:-——D2=1 +{N-1) sY=141 : DIM-Y(Y) 1 [=D1 #D2: D11 -5{D1-,D2)

S8 ‘SCATZ323.DT3sxxxxscattering matrix dalasss# R essssaasF e ¥ A ¥ RRRRRIRARRFHRY
218 DPEN *5CAT2323.DT3" FOR INPOT AS #1
533 EDS 1=1 70 D1:FOR J=1 TO 02 INPUT #1,5¢1,J) :NEXT JiNEXT 1

ggg gﬁ}gj {_T0_DI:FOR J=1 T0 DZ:LPRINT_SCI,d), NEXT J:LPRINT SNEXT 1
A
-1

2 -1
—1 i 2
-1 2 -1
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'y P (26X E6)
3 £ T3f
2 2

!

AP DT N Dl P a2 35 2 E G 3G N3 V7 V2 3 A7 -V -z 22 -2 - -2

sale i 6 -2 -2 -2{ 4 -2 -2 <2 & -2 22 ;2| 6 2 =2 =2 6Z -6 4 £ 2| -6 4 -2 4| b 2 4 4 b-2 -2 -2

s 6 -2 -2 2] -4 3 3 -=2|-4 3 -2 3|-4 2 3 >3 382 s 4 ol-2 4 0 |2 © 1 4o 0 2 0
oG- 2 3 20 4 -2 -2 =204 3 3 -2t 3 203 3lZ-4 2 2 op{ 4 -0 1 3| & 4 3 -wl-2 2 2 2
G364 3 2 3! 42 3 5| & 2.2 =24 3 3 =2 Gl 6 3 -0 tl-4 2 0 2| 6 1 0 32 2 2 2
Velaai-4 3 3 -2 -4 3 "2 3| -4 203 "3 & -2 -2 -2 3| 4 -0 3 « 3 ¢ -pl-4 9 2 2|22 2 =2
i ezl 4 -2 -2 .N. -4 4 4 -2 b 4 2 4|-6 -2 4 4 Sl 6 -2 -2 2l 4 -2 -2 -2 4 02 2 =2 6 2 2 -2
B30 -2 -2 2 2{-4 2 2 0y 6-0 / 3| & [ 3 -0 Wil & -2 -2 =2 -4 3 3 =2\ -4 3 -2 3| -4 -2 3 3

15

{32 -2 2 -2 NM 6 3 =10 [i-4 2 0 21 6 | -w 3 3Gl-4 =2 3 3| ¢ =2 -2 2|4 3 3 -2|-¢ 3 -2 3
Gl 2 2 2 20 6-m 3 116 3 1 <04 0 2 2 WEl-4 3 =2 3|4 -2 3 3| 4 -2 2-2{-4 3 3 -2
Tixal 00 0 & 2 4 4 0i~ 4 9 Ii-=2 o ¢t 1 3zl -4 3 3 <2|-4 3 -2 31-4 -2 3 3| b -2 -2 -2
-5 gz <6 2 4 + 6 -2 =2 =216 4 4 -20-6 4 -2 4 | 6 -2 2 2| -6 4 A 2l -6 4 -2 4| -4 2 4 4
|3 6 1 3 ,Gw 2 =2 2 N"L 2 2 of b -0 | 3 G -2 =2 2 2] <4 2 2 o b-m 1 3| 4 I 3 -~nw
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